
SOCIAL SCIENCE 

CLASS – IX 

TIME- 3 HOURS         M.M. : 80 

(Including MC Q) 

 

lkekU; funsZ'k% 

1- dqy iz'uksa dh la[;k 36 gSA lHkh iz'u vfuok;Z gSaA 

2- lHkh iz'uksa ds vad muds lkeus fn, x, gSaA 

3- iz'u la[;k 1 ls 16 rd izR;sd iz'u 1 vad dk gSA ;s cgq&fodYih iz'u gSaA ijh{kkFkhZ dks 

vyx ls nh xbZ mÙkj&iqfLrdk ij vk/ks ?kaVs ds fu/kkZfjr le; esa bUgsa gy djuk gksxkA 

vk/kk ?kaVk lekIr gksrs gh mÙkj&iqfLrdk,a ijh{kkFkhZ ls okil ys yh tk,axhA 

4- iz'u la[;k 17 ls 32 rd izR;sd iz'u 3 vad dk gSA buds mÙkj 60&80 'kCn lhek ds 

Hkhrj nsus gSaA 

5- iz'u la[;k 33 ls 35 rd izR;sd iz'u 4 vad dk gSA izR;sd iz'u dk mÙkj 80&100 'kCn 

lhek ds Hkhrj nsuk gSA 

6- iz'u la[;k 36 ekufp= ij vk/kkfjr iz'u gSA viuh mÙkj&iqfLrdk ds lkFk ekufp= dks 

layXu djsaA 

GENERAL INSTRUCTIONS: 

1- These are 36 questions in all. All questions are compulsory. 

2- Marks for each questions are indicated against the questions. 

3- Questions from serial no. 1 to 16 are one mark questions. these are multiple choice 

questions. There will be a separate paper containing these questions to be attempted in 

the first 30 minutes. The answer-scripts to be collected at the end of this 30 minutes 

period. 

4- Questions from serial no. 17 to 32 are 3 marks. Answer these in about 60-80 words 

each. 

5- Questions from serial no. 33 to 35 are 4 marks. Answer these in about 80-100 words 

each. 

6- Question no 36 is map question. Attach the map inside your answer book. 

 

PART- I 

Q1. ICC dk eq[;ky; yanu dh txg dgka ij LFkkukUrfjr dj fn;k x;k \   ¼1½ 

 a. nqcbZ    c. U;w fnYyh 

 b. U;w;kdZ   d. flMuh 

vFkok 

^^ egkRek xka/kh jktnzksgh fefMy VsEiy odhy ls T;knk dqN ugha gSa vkSj v/kuaxs Qdhj dk fn[kkok 

dj jgs gSaA** ;g dFku fdlus dgk Fkk \ 

a. tktZ iape   c. foaLVu pfpZy 

 b. ykMZ MygkSth  d. csatkfeu gkbu 

 

Q1. The ICC headquarter was shifted from London to – 

 a. Dubai   c. New Delhi 

 b. Newyork   d. Sydney 

OR 

“Mahatma Gandhi is a seditious middle temple lawyer now posing as a half naked fakir.” 

who said this statement ? 

 a. George Fifth  c. Winston Churchill 

 b. Lord Dalhousie  d. Benjamin Hayen 
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Q2. yksdrkaf=d lafo/kku esa buesa ls dkSu lk izko/kku ugha jgrk  \    ¼1½ 

 a. 'kklu izeq[k ds vf/kdkj  c. fo/kkf;dk ds vf/kdkj 

 b. 'kklu izeq[k dk uke   d. ns'k dk uke 

 

Q2. Which of these is a provision that a democratic constitution does not have - 

 a. Power of the head of the State c. Powers of the legislature 

 b. Name of the head of the State d. Name of the Country 

 

Q3. ---------------- Hkkjr dk lokZf/kd fu/kZu jkT; gS tgka fu/kZurk vkSlr 47 izfr'kr gSA  ¼1½ 

 a. vle    c. fcgkj 

 b. e/;izns'k    d. mM+hlk 

 

Q3. ---------- is the poorest State in India with poverty ratio of 47 percent. 

 a. Assam    c. Bihar 

 b. Madhya Pradesh   d. Orissa 

 

Q4. Hkkjrh; leqnk; ds :i esa igys fØdsV Dyc dh LFkkiuk fdl leqnk; us dh Fkh\  ¼1½ 

 a. eqfLye    c. bZlkbZ 

 b. ikjlh    d. fgUnw 

 

vFkok 

lEIpqvjh dkuwu ;wjksi ds fdl ns'k esa ykxw fd, x, Fks \ 

a. baXySaM   c. teZuh 

 b. Qzkal    d. bVyh 

Q4. Which was the first Indian community to set up a cricket club?. 

 a. Muslim   c. Christian 

 b. Parsi   d. Hindu 

 

OR 

In which country of Europe Sumptuary laws were implemented ? 

 a. England   c. Germany 

 b. France   d. Italy 

 

Q5. Hkkjr esa eq[; pquko vk;qDr dh fu;qfDr dkSu djrk gS\     ¼1½ 

 a. jk"Vªifr   c. jkT; dk xouZj 

 b. iz/kkuea=h   d. lqizhe dksVZ@loksZPp U;k;ky; 

 

Q5. Chief Election Commissioner of India is elected by- 

 a. President of India  c. Governer of a State 

 b. Prime-Minister of India d. Supreme Court 

 

Q6. ueZnk unh dk mn~xe dgkWa gS\        ¼1½ 

 a. lriqM+k   c. vejdaVd 

 b. czáfxjh   d. if'peh ?kkV ds <ky 

 

Q6. The river Narmada has its source at- 

 a. Satpura   c. Amarkantak 

 b. Brahmagiri   d. Slopes of western ghat. 
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Q7. fuEufyf[kr jktuSfrd laLFkkvksa esa ls dkSu lh laLFkk ns'k ds ekStwnk dkuwu esa la'kks/ku ¼1½ 

 dj ldrh gS \         

 a. loksZPp U;k;ky;  c. iz/kkuea=h 

 b. jk"Vªifr   d. laln 

 

Q7. Which of the following institutions can make changes to an existing law of the country? 

 a. The Supreme Court  c. The Prime Minister 

 b. The President  d. The Parliament. 

 

Q8. xzh"e _rq esa mÙkjh eSnkuksa esa cgus okyh iou dks D;k dgk tkrk gS\   ¼1½ 

 a. dky&cSlk[kh  c. yw 

 b. O;kikfjd iousa  d. feLVªy 

 

Q8. The wind blowing in the Northern plains in summer is known as- 

 a. Kaal-Baisakhi  c. Loo 

 b. Trade winds   d. Mestral 

 

Q9. fleyhiky tho eaMy fup; dkSu ls jkT; esa fLFkr gS \     ¼1½ 

 a. iatkc   c. mM+hlk 

 b. fnYyh   d. if'pe caxky 

 

Q9. In which of the following State is the Simlipal Bio-reserve located? 

 a. Punjab   c. Orissa 

 b. Delhi   d. West Bengal 

 

Q10. fuEufyf[kr essa ls dkSu lk ean xfr dk izkd̀frd ladV gS \    ¼1½ 

 a. Hkwdai   c. ckny dk QVuk 

 b. Tokykeq[kh   d. lw[kk 

 

Q10. Identify which one is the example of slow natural hazard. 

 a. Earthquake   c. Cloud burst 

 b. Volcano   d. Drought 

 

Q11. Hkkjr esa igyh ckj tux.kuk fdl o"kZ esa gqbZ Fkh\      ¼1½ 

 a. 1872   c. 1885 

 b. 1881   d. 1992 

 

Q11. In India the first census was held in the year- 

 a. 1872    c. 1885 

 b. 1881   d. 1992 

 

Q12. Hkkjr esa fu/kZurk js[kk ds fu/kkZj.k ds fy, 'kgjh {ks=ksa esa D;k U;wure vk; gS\  ¼1½ 

 a. :- 328 izfr ekg  c. :- 500 izfr ekg  

b. :- 454 izfr ekg  d. :- 1000 izfr ekg  

 

Q12. What is the minimum level of income in Urban areas to determine the poverty line- 

 a. Rs. 328 per month  c. Rs. 500 per month 

 b. Rs. 454 per month  d. Rs. 1000 per month 
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Q13. Hkkjr esa fu/kZurk dk vkadyu djus ds fy, fuEu esa ls dkSu lh fof/k lgh ugha gS \ ¼1½ 

 a. vk; fof/k   c. O;; fof/k  

b. lkis{k fof/k   d. okLrfod fu/kZurk  

 

Q13. Which of the following is not the method of measuring poverty in India. 

 a. Income method  c. Expenditure ratio 

 b. Relative Poverty  d. Absolute poverty 

 

Q14. Hkkjrh; lafo/kku buesa ls dkSu lk vf/kdkj nsrk gSA     ¼1½ 

 a. dke dk vf/kdkj    c. i;kZIr thfodk dk vf/kdkj  

b. viuh laLd`fr dh j{kk dk vf/kdkj  d. futrk dk vf/kdkj  

 

Q14. Which of the following rights is available under the Indian Constitution.. 

 a. Right to work    c. Right to adequate livelihood 

 b. Right to protect one‟s culture  d. Right to privacy 

 

Q15. laln }kjk ikfjr izR;sd dkuwu ij fdldh Lohd`fr izkIr djuh gksrh gSA   ¼1½ 

 a. Hkkjr ds jk"Vªifr    c. eq[; U;k;k/kh'k  

b. Hkkjr ds mijk"Vªifr    d. lHkh nyksa dk erSD; 

 

Q15. Every law passed by the Parliament needs approval of - 

 a. The President of India   c. The Vice-President of India 

 b. The Prime Minister    d. The consensus of all the parties. 

 

Q16. fuEufyf[kr esa ls dkSu lk fodYi lqjf{kr lM+d ;krk;kr ds fy, mi;qDr ugha gSA ¼1½ 

 a. viuh ysu esa pyuk   c. Mªkbfoax ykblsal/kkjh gksuk 

b. vU; ysu dks vpkud cnyuk d. okgu pykrs le; eksckby mi;ksx u djsaaA 

 

Q16. Which of the following alternatives is not appropriate with regard to road safety. 

 a. Keep your lane   c. Be a licensed driver 

 b. Suddenly jump the lane  d. Do not use mobile while driving. 

  

PART- II 

Q17. mUuhloha vkSj chloha lnh dh nqfu;k ds fy, Qzkalhlh Økafr dkSu lh fojklr NksM x;h\ ¼3½ 

vFkok 

cksY'ksfodksa us vDVwcj Økafr ds QkSju ckn dkSu&dkSu ls izeq[k ifjorZu fd,A 

vFkok 

1930 rd vkrs&vkrs teZuh esa ukRlhokn dks yksdfiz;rk D;ksa feyus yxh\ 

 

Q17. Describe the legacy of the French revolution for the people of the world during the 

         nineteenth and twentieth century. 

OR 

What were the main changes brought about by the Bolsheviks immediately after the October 

revolution? 

OR 

Discuss why Nazism became popular in Germany in 1930? 

 

Q18. fdlh LFkku dh tyok;q dks izHkkfor djus okys rhu dkjdksa ds izHkko dks Li"V dhft,A ¼3½ 

 

Q18. Describe the effect of any three factors which effect the climate of any place. 
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Q19. ck<+sa D;k gksrh gS\ ck<+ksa ds nks ykHkdkjh izHkkoksa dh O;k[;k djsaA    ¼3½ 

Q19. What are floods? Describe any two ways in which floods are useful. 

 

Q20. fuEufyf[kr ij laf{kIr fVIi.kh fyf[k,-       ¼3½ 

 cQj LVkWd] U;wure lefFkZr dher rFkk lkoZtfud forj.k iz.kkyhA 

Q20. Write a short note on the following – 

 Buffer stock, Minimum support price and Public distribution system. 

 

Q21. Hkkjr esa tula[;k ds vleku forj.k ds fy, dkSu ls dkj.k mÙkjnk;h gSa\   ¼3½ 

     fdUgha rhu dh O;k[;k dhft,A 

Q21. What are the various reasons responsible for uneven distribution of population in India?  

         Describe the effect of any three factors.  

 

Q22. cLrj o tkok ds vkSifuosf'kd ou&izca/ku esa D;k lekurk,a gSa\     ¼3½ 

vFkok 

vkSifuosf'kd ljdkj us vijk/kh tutkfr vf/kfu;e D;ksa cuk,\ bu fu;eksa dk pjokgksa ds thou ij 

D;k izHkko iM+k\  

vFkok 

dSIVsu fLoax dkSu Fkk\ ;g uke fdl ckr dk izrhd Fkk\ og fdu oxksZa dk izfrfuf/kRo djrk Fkk\ 

Q22. What are the similarities between colonial management of the forests in Bastar and 

Java? 

OR 

Discuss why the colonial Government in India brought criminal tribes Act ? How did it effect 

the pastoralist? 

OR 

Who was Captain Swing? What does this name represent and which group it symbolizes? 

 

Q23. egkekfj;ksa ds izdksi ij dkcw j[kus ds fy, dksbZ rhu mik; crkb,A    ¼3½ 

Q23. Mention any three ways of controlling Epidemics or Communicable diseases. 

 

Q24. lafo/kku D;k gSa\ gesa lafo/kku dh vko';drk D;ksa gS\      ¼3½ 

Q24. What is Constitution? Why do we need Constitution ? 

 

Q25. mu tuoknh vf/kdkjksa dh lwph cuk,a tks vkt gesa feys gq, gS vkSj ftudk mn~xe ¼3½ 

     Qzkalhlh Økafr ls gSA 

vFkok 

mnkjoknh] jSfMdy ,oa :f<oknh dkSu Fks\   

vFkok 

ukfRl;ksa us turk ij iwjk fu;a=.k gkfly djus ds fy, dkSu ls rjhds viuk,\ 

Q25. Make a list of democratic rights we enjoy today whose origins could be traced to the 

         French Revolution. 

OR 

        Who were liberals, radicals and conservatives? 

OR 

       In what ways did the Nazi seek to establish total control over its people ? 

 

Q26. pqukoksa dks yksdrkaf=d cukus ds fy, vko';d U;wure 'krsZa D;k gSa\    ¼3½ 

Q26. What are the various minimum conditions of a democratic election? 

 

Q27. Lora=rk ds vf/kdkj ds varxZr nh xbZ fdUgha rhu Lora=rkvksa dk mYys[k dhft,A ¼3½ 

Q27. Mention any three kind of freedoms given under Right to freedom. 
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Q28. Hkkjr esa dkSu lh ouLifr O;kid :i ls ikbZ tkrh gS\ bl izdkj dh ouLifr dh dksbZ ¼3½ 

     nks fo'ks"krk,a fyf[k,A 

Q28. What kind of vegetation is widespread in India? Write any two properties of this 

vegetation. 

 

Q29. csjkstxkjh ls D;k vfHkizk; gS\ izPNUu ,oa ekSleh csjkstxkjh esa varj crkb,A   ¼3½ 

Q29. What is unemployment? Write difference between disguised and seasonal 

          unemployment. 

 

Q30. ou vf/kfu;e ds varxZr ouksa dks fdu Jsf.k;ksa esa ckaVk x;k\ bl vf/kfu;e ls    ¼3½ 

     LFkkuh; yksx fdl izdkj izHkkfor gq,A 

vFkok 

     vkSifuosf'kd 'kklu ds nkSjku pjokgksa ds thou esa D;k cnyko vk,\ 

vFkok 

     baXySaM esa gq, ckM+kcanh vkanksyu ds D;k dkj.k Fks\ 

Q30. What are the various categories into which forests are divided under forest act ? 

        How did this division effect the local people ? 

OR 

What changes occur in the life of pastoralist during colonial rule? 

OR 

What are the various reasons for beginning of Enclosure movement in England? 

 

Q31. [kk| dh lqj{kk ls lokZf/kd oafpr yksx dkSu&dkSu ls gSa\ [kk| vlqj{kk ds ifj.kkeksa ¼3½ 

     dk la{ksi esa o.kZu dhft,A 

Q31. Who are the most food insecure people? Describe in brief, the consequences of  

         food insecurity. 

 

 

Q32.             ¼3½ 

 

 

 

 

 

 

 

 

 

 

Åij cus LFkku ^v* ds tyok;q vkjs[k dk v/;;u djsa vkSj fuEufyf[kr iz'uksa ds mÙkj nhft,- 

a. ,sls nks eghuksa dk uke crkb, tc bl LFkku ij lokZf/kd o"kkZ gqbZ gSA 

   b. fdl eghus esa rkieku loksZPPk gS\ 

c. bl LFkku dk okf"kZd rkikUrj D;k gS\ 

 

Q32. Study the climate graph of station „A‟ and answer the following questions- 

a- Name two months when this station received maximum rainfall. 

b- In which month temperature is maximum? 

c- What is the annual range of temperature of this station. 
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Q33. ^^okVjyw dk ;q) ,Vu ds [ksy ds eSnkuksa ij gh thrk x;kA** bl dFku dh   ¼4½ 

     O;k[;k dhft,A 

vFkok 

^^;wjksih; iks'kkd lafgrk ,oa Hkkjrh; iks'kkd lafgrk ds chp varj Li"V dhft,A** 

Q33. “The battle of Waterloo was won on the playing fields of Eton” Explain this statement. 

OR 

In what ways European dress codes were different from Indian dress codes? 

 

Q34. Hkkjr ds jk"Vªifr dh izeq[k 'kfDr;ksa dk o.kZu dhft,A     ¼4½ 

Q34. Describe the powers of the President of India. 

 

Q35. Hkkjr esa O;kid fu/kZurk ds fofHkUu dkj.k D;k gSa\ fdUgha nks fu/kZurk&fujks/kh mik;ksa ¼4½ 

     dk fooj.k nhft,A 

Q35. What are the various causes of widespread poverty in India? Give description of  

         any two Anti-poverty measures. 

 

Q36. Hkkjr ds fn, x, ekufp= esa 1 ls 4 rd fofHkUu LFkku iznf'kZr fd, x, gSaA bUgsa  ¼4½ 

     igpkfu, rFkk fn, x, LFkku ij budk uke fyf[k,A 

vFkok 

Hkkjr ds fn, x, ekufp= ij fuEufyf[kr LFkkuksa dks iznf'kZr dhft, o mudk uke fyf[k,& 

1- xksnkojh unh  2- vf/kdre tu?kuRo okyk jkT; 

3- fpYdk >hy  4- djkdksje ioZr J̀a[kyk 

Q36. Four features from 1 to 4 are shown in the given outline map of India. Identify these 

         features and write their name in the space provided. 

OR 

On the given outline map of India mark and name the following- 

1. River Godavari 2. A State which has highest density of population 

3. Chilka lake  4. Karakoram Mountain range. 
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